
1 

 

2005+ Ford Super Duty 
Dual Steering Stabilizer Assembly 

Installation Instructions 

2686 Highway 92 - Oskaloosa, IA 52577 
Phone: 641.673.0468  
www.kelderman.com 

Version 1.5 
 
Part # 69170 
 
Part # 16978 



2 

 

1.  Locate the steering stabilizer kit then remove the middle (2) bolts on the passenger side of the 
differential cover. M10 and 3/8” bolts are provided so check and see what bolts fit in your differential.  

2.  Locate “K” Bracket (# 16005) and place it on the front side of the axle. Place some RTV sealer on 
the differential bolts and attach the “K” bracket to the differential. If you are using the stock differen-
tial cover, use the spacer (t# 30168) between the tab on the “K” bracket and the differential. If you 
are using an aftermarket differential cover, you will not need the spacer. If RTV sealer isn't used, the 
differential may leak oil out of these (2) bolts. Snug up the differential bolts.   

Remove factory differential cover bolts 



3 

 

3.  Locate the Backing Clamp (# 16008) and attach to the “K” bracket using the (4) 7/16”-20 x 1-1/2” 
bolts. Tighten down 7/16” bolts with impact. Next, tighten the differential bolts. 

7/16”-20 x 1-1/2” Bolts 
3/8” or M10 Bolts 



4 

 

Drivers Side 

4.  Locate the Shock End Mounting Brackets (# 69356-DS and 69355-PS) and fasten them to the 
pinch bolts on the tie rod. THERE IS A DIFFERECE BETWEEN THE RIGHT AND LEFT HAND 
SHOCK END MOUNTING BRACKETS.  Remove the nuts off the factory pinch bolts and place the 
mount over the OEM bolt.  Reuse the factory nut and tighten down. Next, use the supplied        
5/16”-18 x 3” bolts to attach the outer holes on the bracket through the outer clips on the tie rod. 
Make sure the 5/16”-18 x 3” bolts face the rear of the truck. If installed incorrectly, the threaded end 
of the bolts will rub on the shock and cause damage. Tighten down 5-16”-18 bolts. 

Passenger Side 



5 

 

5.  Locate the Steering Stabilizer Shocks. Use the 1/2” x 3” bolts to fasten the shocks to the center 
bracket with the Tie Plate (# 20227). Use the 1/2” x 2-1/2” bolts to fasten the shock end mounts to 
the other end of the shocks. 

Tie Bracket Plate 



6 

 

F250-350 Steering Stabilizer 



7 

 



8 

 

F450-550 Steering Stabilizer 



9 

 


